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Section 07.  SIMPLE HEADWIND OR TRAILING WIND

It is simple physics that 
- Head wind will add yards to your shot due to wind resistance and 
- Trailing wind will deduct yards from your shot due to wind carry.
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The simplest kind of wind adjustment is for direct trailing wind or direct head wind.  What I mean here is that there is no side angle to the wind (we will cover that in Section 08)

The Base

Through much experimentation and practice, I have determined that at 150 yards, the wind will add or deduct one yard for each 1 mph of wind speed.  This is what I will refer to as the Base.
So for example, a 150 yard shot into a 10 mph headwind would play 150 + 10 = 160 yards.

Wind Adjustments are Distance-Dependent
At distances more or less than 150 yards, the wind will have either more or less time to impact the ball.  The longer the wind has to act on the ball, the more impact it will have.  

Therefore, the impact of the wind at other distances is a ratio of the yardage to 150.  So how much you add or deduct for wind depends on how far you are from the pin.  

1. For shots shorter than 150 yards, the wind will have less than 1 yard per mph impact

2. For shots longer than 150 yards, the wind will have more than 1 yard per mph impact

The formula for scaling the wind adjustment at distance D is

 Adjustment= D/150 x the wind speed.

This is probably best shown by examples:

Example 1 (base, headwind, adds yards to the shot)
You are on the fairway, 150 yards from the pin.  You have a 15 mph wind directly in your face (head wind).  You know the shot will play more than 150 yards, because of the wind.

The wind adjustment here would be 150/150 x 15 mph = 15 yards.  So everything else being neutral, the shot would play 

150 + 15= 165 yards.

Example 2 (headwind, adds yards to the shot)
You are on the fairway, 100 yards from the pin.  You have a 15 mph wind directly in your face (head wind).

The wind adjustment here would be 100/150 x 15 mph = 10 yards.  So everything else being neutral, the shot would play 

100 + 10= 110 yards.

Example 3 (trailing wind, deducts yards from the shot)
You are on the fairway, 180 yards from the pin.  You have a 20 mph wind directly at your back (trailing wind).  You know the shot will play less than 180 yards because of the wind.

The wind adjustment here would be 180/150 x 20 mph = 1.20 x 20 mph = 24 yards.  So everything else being neutral, the shot would play 

180 - 24 = 156 yards

Example 4 (trailing wind, deducts yards from the shot)
You are on the fairway, 55 yards from the pin.  You have a 20 mph wind directly at your back (trailing wind).

The wind adjustment here would be 55/150 x 20 mph = .37 x 20 mph = 7 yards.  So everything else being neutral, the shot would play 
55 - 7 = 48 yards

Once again, once you know “what yardage the shot will play”, just pick the best club for the shot and modify it to the exact yardage.

The "Wind Calculations" chart has a table titled "+/- Yds To Hole" (left side) showing yardages from 10 to 300 yards, in increments of 5 yards, and the ratio of each yardage to 150 yards (the “base”) for quick reference.
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